

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO GBH 3919P

	Cost Plus			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT BUMPER (WCP)	BENT/CRACKED	\$220.00	\$220.00
2	FRONT BUMPER BRACKET (LH/RH) @\$110.00 (WCP)	TO REPAIR SEE LABOUR	\$220.00	\$0.00
1	FRONT GRILLE (WCP)	* CHECK	\$270.00	\$0.00
1	FRONT GRILLE LOGO (WCP)	* CHECK	\$45.00	\$0.00
10	FRONT GRILLE CLIPS @\$1.50 (WCP)	NECESSARY	\$15.00	\$15.00
1	FRONT GRILLE INNER CENTRE BRACKET (WCP)	TO REPAIR SEE LABOUR	\$30.00	\$0.00
1	FRONT GRILLE MOULDING (WCP)	* CHECK	\$38.00	\$0.00
2	HEADLAMP (LH/RH) @\$340.00 (WCP)	O/S CUT / N/S BROKEN	\$680.00	\$680.00
2	FRONT CORNER PANEL (LH/RH) @\$110.00 (WCP)	BENT	\$220.00	\$220.00
1	FRONT PANEL (WCP)	BENT	\$460.00	\$460.00
1	FRONT WIPER PANEL (WCP)	BENT	\$165.00	\$165.00
2	FRONT WIPER PANEL SIDE GARNISH (LH/RH) @\$65.00 (WCP)	O/S DISTORTED	\$130.00	\$65.00
2	FRONT WIPER LINKAGE @\$165.00 (WCP)	* CHECK	\$330.00	\$0.00
1	FRONT WIPER LINKAGE MOTOR (WCP)	* CHECK	\$350.00	\$0.00
2	FRONT WIPER NOZZLE JET @\$35.00 (WCP)	O/S BROKEN	\$70.00	\$35.00
2	FRONT WIPER NOZZLE JET SECURING NUT @\$9.50 (WCP)	O/S DENTED	\$19.00	\$9.50
2	FRONT WIPER ARM (LH/RH) @\$75.00 (WCP)	O/S MISSING	\$150.00	\$75.00
2	FRONT WIPER ARM CAP COVER (LH/RH) @\$24.00 (WCP)	O/S MISSING	\$48.00	\$24.00
2	FRONT WIPER BLADE (LH/RH) @\$65.00 (WCP)	O/S MISSING	\$130.00	\$65.00
2	FRONT PANEL SIDE MOULDING (BLACK) (LH/RH) @\$70.00 (WCP)	O/S BENT	\$140.00	\$70.00
1	FRONT PANEL CENTRE MOULDING (BLACK) (WCP)	DISTORTED	\$165.00	\$165.00
1	WIPER WASHER TANK (WCP)	* CHECK	\$110.00	\$0.00
1	WIPER WASHER TANK MOTOR (WCP)	SERVICEABLE	\$120.00	\$0.00
1	FRONT WINDSCREEN GLASS (WCP)	SHATTERED	\$380.00	\$380.00
1	FRONT WINDSCREEN GLASS RUBBER (WCP)	NECESSARY	\$90.00	\$90.00
2	FRONT WINDSCREEN PILLAR INNER GARNISH (LH/RH) @\$100.00 (WCP)	O/S DISTORTED	\$200.00	\$100.00
1	RH WINGMIRROR (WCP)	MISSING	\$190.00	\$190.00
1	LH WINGMIRROR - STAY (WCP) }	DENTED	\$280.00	\$280.00
1	LH WINGMIRROR - ROUND (WCP) }	DENTED	\$0.00	\$0.00



	Cost P	Plus		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	LH WINGMIRROR - BIG (WCP) }	DENTED	\$0.00	\$0.00
1	ROOF TOP PANEL (WCP)	BENT	\$480.00	\$480.00
1	ROOF TOP TRIM LINING (WCP)	DEFORMED	\$650.00	\$650.00
1	DRIVER'S SUN VISOR (WCP)	DISTORTED	\$175.00	\$175.00
1	DRIVER'S SUN VISOR BRACKET (WCP)	DISTORTED	\$90.00	\$90.00
1	FRONT PASSENGER'S SUN VISOR (WCP)	SERVICEABLE	\$175.00	\$0.00
1	FRONT PASSENGER'S SUN VISOR BRACKET (WCP)	SERVICEABLE	\$90.00	\$0.00
1	REAR VIEW MIRROR (WCP)	* CHECK	\$210.00	\$0.00
1	CABIN INTERIOR LAMP (WCP)	* CHECK	\$295.00	\$0.00
1	ROOF TOP PANEL FRONT CROSS MEMBER (WCP)	BENT	\$260.00	\$260.00
1	ROOF TOP PANEL FRONT (2ND) CROSS MEMBER (WCP)	* CHECK	\$260.00	\$0.00
1	RH 'A' PILLAR - OUTER (WCP)	BENT	\$320.00	\$320.00
1	RH 'A' PILLAR - REINFORCEMENT (WCP)	BENT	\$195.00	\$195.00
1	RH 'A' PILLAR - INNER (WCP)	BENT	\$275.00	\$275.00
1	RH 'A' PILLAR INNER TOP BRACKET (WCP)	BENT	\$90.00	\$90.00
1	RH 'B' PILLAR - OUTER (WCP)	BUCKLED	\$360.00	\$360.00
2	FRONT CABIN MOUNTING (LH/RH) @\$110.00 (WCP)	* CHECK	\$220.00	\$0.00
2	FRONT CABIN MOUNTING BRACKET (LH/RH) @\$340.00 (WCP)	* CHECK	\$680.00	\$0.00
2	REAR CABIN MOUNTING (LH/RH) @\$140.00 (WCP)	* CHECK	\$280.00	\$0.00
2	REAR CABIN MOUNTING BRACKET (LH/RH) @\$280.00 (WCP)	* CHECK	\$560.00	\$0.00
1	CABIN LOCK (WCP)	* CHECK	\$275.00	\$0.00
1	CABIN LOCK PULL LEVER (WCP)	* CHECK	\$240.00	\$0.00
1	CABIN LOCK PULL LEVEL LINK (WCP) }	* CHECK	\$190.00	\$0.00
1	CABIN LOCK SAFETY LOCK CATCH (WCP) }	* CHECK	\$0.00	\$0.00
1	TILT CABIN SPRING (WCP)	* CHECK	\$450.00	\$0.00
1	TILT CABIN TUBE ASSY (WCP)	* CHECK	\$610.00	\$0.00
1	AIR CON BLOWER (WCP)	* CHECK	\$600.00	\$0.00
1	AIR CON COOLING COIL (WCP)	* CHECK	\$1,050.00	\$0.00
1	AIR CON HEATER UNIT (WCP)	* CHECK	\$900.00	\$0.00
1	AIR CON HEATER UNIT BYPASS HOSE (INLET) (WCP)	* CHECK	\$60.00	\$0.00
1	AIR CON HEATER UNIT BYPASS HOSE (OUTLET) (WCP)	* CHECK	\$60.00	\$0.00



	Cost P	Plus		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
4	AIR CON DASHBOARD LOUVRE @\$110.00 (WCP)	DENTED	\$440.00	\$440.00
1	AIR CON CONDENSER (WCP) }	* CHECK	\$750.00	\$0.00
1	AIR CON CONDENSER BRACKET (WCP) }	* CHECK	\$0.00	\$0.00
1	AIR CON CONDENSER FAN ASSY (WCP) }	* CHECK	\$0.00	\$0.00
1	AIR CON LIQUID PIPE (WCP)	* CHECK	\$185.00	\$0.00
1	AIR CON DISCHARGE PIPE (WCP)	* CHECK	\$195.00	\$0.00
1	AIR CON SUCTION PIPE (WCP)	* CHECK	\$240.00	\$0.00
1	AIR CON COMPRESSOR (WCP)	SERVICEABLE	\$900.00	\$0.00
1	AIR CON POWER CONTROL PANEL @ DASHBOARD (WCP)	BENT	\$420.00	\$420.00
1	DASHBOARD ASSY (WCP)	DISTORTED	\$580.00	\$580.00
1	DASHBOARD REINFORCEMENT (WCP)	BENT	\$385.00	\$385.00
1	DASHBOARD REINFORCEMENT CENTRE BRACKET (WCP)	* CHECK	\$45.00	\$0.00
2	DASHBOARD REINFORCEMENT SIDE BRACKET (LH/RH) @\$120.00 (WCP)	* CHECK	\$240.00	\$0.00
1	DASHBOARD CENTRE CONSOLE - TOP (WCP)	DISTORTED	\$230.00	\$230.00
1	DASHBOARD CENTRE LOWER GARNISH (WCP)	DISTORTED	\$210.00	\$210.00
1	DASHBOARD COMPARTMENT (WCP)	* CHECK	\$125.00	\$0.00
1	DASHBOARD SIDE COVER (FOR WASHER TANK) (WCP)	* CHECK	\$95.00	\$0.00
1	DASHBOARD SIDE COVER (FOR BRAKE FLUID) (WCP)	* CHECK	\$95.00	\$0.00
1	LH DASHBOARD SIDE LOWER GARNISH (WCP)	* CHECK	\$125.00	\$0.00
1	LH DASHBOARD SIDE LOWER GARNISH COVER - BIG (WCP)	* CHECK	\$165.00	\$0.00
1	LH DASHBOARD SIDE LOWER GARNISH COVER - SMALL (WCP)	* CHECK	\$165.00	\$0.00
1	DASHBOARD METER (WCP)	* CHECK	\$950.00	\$0.00
1	DASHBOARD METER OUTER GARNISH (WCP)	* CHECK	\$175.00	\$0.00
2	DASHBOARD CUP HOLDER (LH/RH) @\$125.00 (WCP)	* CHECK	\$250.00	\$0.00
1	RH DASHBOARD LOWER GARNISH (WCP)	* CHECK	\$95.00	\$0.00
1	STEERING BEVEL GEAR (WCP)	* CHECK	\$450.00	\$0.00
1	STEERING WHEEL (WCP)	* CHECK	\$750.00	\$0.00
1	STEERING COLUMN C/W SHAFT (WCP)	BENT	\$920.00	\$920.00
1	STEERING COLUMN COVER TOP (WCP)	* CHECK	\$85.00	\$0.00
1	STEERING COLUMN COVER LOWER (WCP)	* CHECK	\$85.00	\$0.00
1	STEERING COLUMN SHAFT CONE COVER (WCP)	* CHECK	\$95.00	\$0.00



	Cost F	Plus		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	STEERING IGNITION SWITCH (WCP)	* CHECK	\$230.00	\$0.00
1	STEERING SIGNAL HEADLAMP INDICATOR (WCP) }	* CHECK	\$220.00	\$0.00
1	STEERING WIPER CONTROL INDICATOR (WCP) }	* CHECK	\$0.00	\$0.00
2	RH BRAKE PIPE - UPPER @\$110.00 (WCP)	* CHECK	\$220.00	\$0.00
1	RH CLUTCH PIPE - UPPER (WCP)	* CHECK	\$110.00	\$0.00
2	RH BRAKE PIPE - LOWER @\$135.00 (WCP)	* CHECK	\$270.00	\$0.00
1	RH CLUTCH PIPE - LOWER (WCP)	* CHECK	\$145.00	\$0.00
2	GEAR CABLE @\$375.00 (WCP)	* CHECK	\$750.00	\$0.00
1	BRAKE MASTER PUMP (WCP)	* CHECK	\$220.00	\$0.00
1	BRAKE BOOSTER PUMP (WCP)	* CHECK	\$590.00	\$0.00
1	BRAKE BOOSTER PUMP BRACKET (WCP)	* CHECK	\$120.00	\$0.00
1	BRAKE MASTER TANK RESERVOIR (WCP)	* CHECK	\$65.00	\$0.00
1	FOOT BRAKE PEDAL (WCP)	* CHECK	\$175.00	\$0.00
1	FOOT BRAKE PEDAL BRACKET (WCP)	* CHECK	\$190.00	\$0.00
1	FOOT BRAKE SENSOR (WCP)	* CHECK	\$185.00	\$0.00
1	CLUTCH MASTER PUMP (WCP)	* CHECK	\$120.00	\$0.00
1	CLUTCH FOOT PEDAL (WCP)	* CHECK	\$175.00	\$0.00
1	CLUTCH FOOT PEDAL BRACKET (WCP)	* CHECK	\$160.00	\$0.00
1	FOOT ACCELERATOR PEDAL (WCP)	* CHECK	\$260.00	\$0.00
1	RADIATOR (WCP)	* CHECK	\$740.00	\$0.00
1	RADIATOR FAN BLADE (WCP)	* CHECK	\$135.00	\$0.00
1	RADIATOR FAN CLUTCH (WCP)	* CHECK	\$295.00	\$0.00
1	RADIATOR FAN COWLING (WCP)	* CHECK	\$140.00	\$0.00
1	GEARBOX MOUNTING (WCP)	* CHECK	\$90.00	\$0.00
2	FRONT DOOR (LH/RH) @\$850.00 (WCP)	BENT	\$1,700.00	\$1,700.00
2	FRONT DOOR SIGNAL LAMP (LH/RH) @\$55.00 (WCP)	BROKEN	\$110.00	\$110.00
4	FRONT DOOR HINGES (TOP/LOWER) (LH/RH) @\$65.00 (WCP)	DISTORTED/BENT	\$260.00	\$260.00
2	FRONT DOOR WEATHERSTRIP (LH/RH) @\$160.00 (WCP)	O/S CUT / N/S BROKEN	\$320.00	\$160.00
2	FRONT DOOR FRAME WEATHERSTRIP (LH/RH) @\$160.00 (WCP)	O/S DISTORTED	\$320.00	\$160.00
2	FRONT DOOR STEP GARNISH (LH/RH) @\$125.00 (WCP)	* CHECK	\$250.00	\$0.00
1	RH FRONT DOOR OUTER MOULDING (WCP)	DENTED	\$90.00	\$90.00



	Cost P	Plus		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	RH FRONT DOOR LOCK (WCP)	* CHECK	\$210.00	\$0.00
1	RH FRONT DOOR GLASS (WCP)	BROKEN	\$340.00	\$340.00
1	RH FRONT DOOR GLASS RUN CHANNEL (WCP)	DENTED	\$140.00	\$140.00
1	RH FRONT DOOR VERTICAL OUTER GARNISH (WCP)	* CHECK	\$75.00	\$0.00
1	RH FRONT DOOR OUTER PULL HANDLE (WCP)	CUT	\$65.00	\$65.00
1	RH FRONT DOOR REGULATOR (WCP)	SERVICEABLE	\$220.00	\$0.00
1	RH FRONT DOOR REGULATOR MOTOR (WCP)	SERVICEABLE	\$280.00	\$0.00
1	RH FRONT DOOR TRIMBOARD (WCP)	* CHECK	\$380.00	\$0.00
1	RH FRONT DOOR CIGARETTE COMPARTMENT (WCP)	* CHECK	\$195.00	\$0.00
2	FRONT DOOR INNER VERTICAL SEAL (LH/RH) @\$95.00 (WCP)	O/S DISTORTED	\$190.00	\$95.00
1	RH FRONT DOOR LOCK ACTUATOR (WCP)	* CHECK	\$115.00	\$0.00
2	FRONT DOOR CHECKER (LH/RH) @\$75.00 (WCP)	SERVICEABLE	\$150.00	\$0.00
1	RH FRONT DOOR SPLASH SHIELD (WCP)	* CHECK	\$120.00	\$0.00
1	ENGINE OIL FILTER (WCP)	* CHECK	\$10.00	\$0.00
1	AIR FILTER (WCP)	* CHECK	\$75.00	\$0.00
1	AIR CLEANER BOX ASSY (WCP)	* CHECK	\$295.00	\$0.00
4	PISTON RING @\$220.00 (WCP)	* CHECK	\$880.00	\$0.00
4	CON ROD ASSY @\$170.00 (WCP)	* CHECK	\$680.00	\$0.00
10	MAIN BEARING @\$50.00 (WCP)	* CHECK	\$500.00	\$0.00
8	CON ROD BEARING @\$65.00 (WCP)	* CHECK	\$520.00	\$0.00
2	TRUST WASHER @\$45.00 (WCP)	* CHECK	\$90.00	\$0.00
1	CRANKSHAFT ASSY (WCP)	* CHECK	\$2,450.00	\$0.00
1	CYLINDER HEAD (NPA)	* CHECK	\$0.00	\$0.00
8	EXHAUST VALVE @\$75.00 (WCP)	* CHECK	\$600.00	\$0.00
8	INTAKE VALVE @\$75.00 (WCP)	* CHECK	\$600.00	\$0.00
1	ENGINE OIL PUMP (WCP)	* CHECK	\$370.00	\$0.00
2	BALANCING SHAFT ASSY @\$220.00 (WCP)	* CHECK	\$440.00	\$0.00
1	EXHAUST CAM SHAFT (WCP)	* CHECK	\$1,950.00	\$0.00
1	INTAKE CAM SHAFT (WCP)	* CHECK	\$1,950.00	\$0.00
1	ENGINE OVERHAUL GASKET KIT (WCP)	* CHECK	\$195.00	\$0.00
4	INJECTOR @\$700.00 (WCP)	* CHECK	\$2,800.00	\$0.00



	Cost P	Plus		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
4	GLOW PLUG @\$85.00 (WCP)	* CHECK	\$340.00	\$0.00
1	TURBO CHARGER (WCP)	* CHECK	\$1,900.00	\$0.00
1	FUEL FILTER (WCP)	* CHECK	\$55.00	\$0.00
16	VALVE TOP POST CUP @\$18.00 (WCP)	* CHECK	\$288.00	\$0.00
1	TIMING BELT (WCP)	* CHECK	\$90.00	\$0.00
1	TIMING BELT BEARING (WCP)	* CHECK	\$80.00	\$0.00
1	TIMING BELT TENSIONER (WCP)	* CHECK	\$100.00	\$0.00
1	LH TAILLAMP (WCP)	BENT	\$145.00	\$145.00
1	RH FRONT UPPER ARM (WCP)	* CHECK	\$450.00	\$0.00
1	RH FRONT LOWER ARM (WCP)	* CHECK	\$320.00	\$0.00
1	RH FRONT KNUCKLE ARM (WCP)	* CHECK	\$380.00	\$0.00
1	RH FRONT KNUCKLE ARM BEARING (WCP)	* CHECK	\$65.00	\$0.00
1	RH FRONT BEARING HUB (WCP)	* CHECK	\$330.00	\$0.00
	COST PLUS 15.00%		\$8,233.95	\$1,898.03
			\$63,126.95	\$14,551.53
	Special	Nett		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	ERP UNIT (SN)	MISSING	\$150.00	\$150.00
1	ERP UNIT BRACKET (SN)	NECESSARY	\$26.00	\$26.00
1	SET DASHBOARD RADIO HEAD (SN)	* CHECK	\$450.00	\$0.00
1	BRAKE FLUID (SN)	NECESSARY	\$80.00	\$50.00
1	RADIATOR COOLANT (SN)	* CHECK	\$40.00	\$0.00
2	ENGINE MOUNTING (LH/RH) @\$90.00 (SN)	* CHECK	\$180.00	\$0.00
2	FRONT DOOR ROC STICKER (LH/RH) @\$25.00 (SN)	NECESSARY	\$50.00	\$50.00
1	RH FRONT DOOR INNER SPEAKER (SN)	* CHECK	\$120.00	\$0.00
1	ENGINE OIL L(8 LITRE) (SN)	* CHECK	\$180.00	\$0.00
1	RH FRONT TYRE (SN)	SERVICEABLE	\$195.00	\$0.00
1	RH FRONT WHEEL RIM (SN)	* CHECK	\$300.00	\$0.00
1	RH REAR TYRE (SN)	* CHECK	\$180.00	\$0.00
1	RH REAR TYRE WHEEL RIM (SN)	* CHECK	\$300.00	\$0.00
1	REAR CARGO BOX ASSY (STAINLESS STEEL) (SN) }	BENT	\$7,800.00	\$0.00



	Special	Nett		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR LOWER STAINLESS STEEL BEAM (SN) }	BENT	\$0.00	\$0.00
			\$10,051.00	\$276.00

T			I
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjus
TO REMOVE, CUT OUT DAMAGED PARTS, PANEL BEATING, WELDING, ALIGN, REFIX AND TO RENEW AFFECTED PARTS. INCLUSIVE OF THE REPAIR OF FRONT BUMPER BRACKET (LH/RH) AND FRONT GRILLE INNER CENTRE BRACKET.		\$2,400.00	\$2,2
TO REMOVE AND RENEW FRONT INSTRUMENT PANEL ASSY, TO REWIRING AND TRANSFER INSTRUMENT FITTINGS		\$300.00	\$2
TO REMOVE AIRCON CONDENSER, PIPES AND DRIERS. VACUUM AND RECHARGE GAS		\$100.00	\$1
TO REMOVE AND RENEW FRONT WINDSCREEN GLASS AND CONDUCT WATER LEAK TEST		\$100.00	\$
TO REMOVE DOOR'S FITTINGS		\$160.00	\$1
TO REMOVE FRONT BRAKE BOOSTER, BRAKE MASTER PUMP AND STEERING COLUMN		\$80.00	\$
TO CONDUCT FRONT WHEEL ALIGNMENT TEST		\$80.00	\$
TO DISMANTLE AND CHECK FRONT UNDER-CARRIAGES. TO REPLACE AFFECTED PORTIONS		\$300.00	
TO REMOVE AND REFIT FRONT SEAT ASSY TRIM BOARD AND CARPET TO FACILITATE REPAIRING WORKS		\$80.00	\$
TO PUTTY AND RESPRAY ON AFFECTED PORTIONS		\$1,600.00	\$1,4
TO FOCUS HEADLAMPS AND TAILLAMPS (NPA)		\$0.00	
TO CHECK FRONT AND REAR LIGHTING OPERATION AND REWIRING		\$50.00	\$
TO REMOVE AND OVERHAUL ENGINE, TO REFIX AND RE-START ENGINE		\$2,800.00	:
		\$8,050.00	\$4,3
GRAND TOTAL		\$81,227.95	\$19,19
RECOMMENDED COST OF REPAIRS (REPAIR COST NOT CONCLUDE) (EXCLUDE CHECK ITEMS S\$57,725.40 NETT)			\$19,19
LESS EXCESS			(\$600
NETT LIABILITY			\$18,59



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

# KSC

KENNETH KONG SENG CHEONG

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.